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300 < 515 0-0150
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S A A (8- 2) X381 X400 _
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Mn:AS ' f?/(d_d' )+ (As_As ' )fq(d_%)
173.5

2 % 387.1 X400 X (515 — 60) x 10~ °+ (8 — 2) x 387.1 X 400 X (515 — ) %10 ¢

538.8 kN'm

AAG ==

¢Mn = 0.85 X 538.8 = 458.0kNm
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[AA  4-4] oA 4-39] HA StsETs 2-D22 tidl 4-D228 AHEE
o] AAZGES Atste.

¥
Ao R/ g AEAY] A5 HEATe] FRD AR AP,
) £

vy — (8—4)x387.1x400
0.85 £ b 0.85x21x300

= 116mm

2 (4.22)°1 A

(1(1'2(5)5/%0) = 153mm>a or 2.55x60 = 153mm > a

mEpA SR E A ST FESHA] Horn®E A (428b)E aE Akt
(0.85%21x300) 2% + (600x4x387.1 — 8x387.1x400)a — 600 x4 x387.1x0.85x60 = 0

Soa=12Tmm
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o= 2P g 03 = 121085260 o g3 0.0018

C .= (200,000 x0.0018 x4 x387.11x 10 ~* = 557.4 kN
C.=0.85%x21x127x300x 10 ~* = 680.1 &N

M,= C.(d=5)+ Cd—d)

= 680.1 < (515 — 127/2) + 557.4 x (515 — 60)
= 560,682 kN-mm = 560.7 kN-m

GM, = 0.85 X 560.7 = 476.6 kN'm
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[Zo]] 28X YA 2AEH7] $15e] 2 (4.14) 2 5

_ A, 8x506.7x400 _ B
4= 0.8 kayb T 70.85x21 %600 = 151mm> h ;= 120 mm

e

THSFS Ko R fjAsnm THEHE dAAMS 483t 2(4.30)3 (4.31)Z5F

0.85 £ (b— b)) h
Asf: k 7 f

v

_0.85x21x(600 — 300)x120 _ 2
= 400 = 1,607 mm

M

= Asffy<d— gf)

nl

= 1,607400% (510 — 120 ) 10 =6 = 289,34V m
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2} (4.23)¢F (4.33) 2 ZN-F
(A~ AJL, _ (8x506.7—1,607)x400 _ 1gq,

a— =

08570, 0.85x21 %300

My = (A, = A, )f,d = 5)

= (8 X 506.7 — 1,607) x 400 x (510 — %)x 10°°

= 409.6 k/N'm

AA TARHE

+ M,, = 289.3 + 409.6 = 698.9kNm

¢M, = 0.85 X 698.9 = 594.1 kN'm
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4-7-3 b, A7} FAAL p7b HAF AT 2 HAZ PR A7

o) A3 olgk RWEZL 100kNV « mo|iL &stzol 2gt RulEVF 80kN « mY ] ©ht
X .

d=440mm, f, =21 MPa, f,=400MPa, D19(286.7mm?)

M, M

n

" obd: bd

= pf (1 — 17f )

(1) 28 H%E M =1.2x100+1.6 X80 = 248kN » m

2) R, = M‘Q = 248 10° 2=5.02N/mm2
obd®  0.85 300440
3) p= 085 {1 _ i 2 } 0.0151
fy 0 85f('k
T (Opin = 0-0035)< p = (ppa = 0.0163) & WHal|of g},
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(4) A, = pbd = 0.0151 < 300 < 440 = 1,993 mm>

1993

n — W_ 695

7D19 = 7 X 286.7 = 2006.9 mm?
20069

p= 300X440—0.0152 < poae OK.

= 6D19 (A, = 2006.9mm*) 2 v+
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C=0.85f ,ab
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_ rly 2
(3) M, pfy(l LT X bd
M, ef, M,
(4) = (1 —-— ) =R, =
o2 P Iy L7f P bd?

(5) poll that 2212 o= AN

£y
1‘7fck

pr=fupt+ R, =0

085, 2R,
- {1 L 0.85f,, }
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